Tz ARTSI|EE, 2024.6.4

RENEER



Contents

1. 55w O[sH

.:_._OL w|r
ENE
ol Jor
O TO
[

ol
=S

X
(i

= JHe
==

o|A}

- FAQ
. J|E}



K
o4
m_ﬂ
|=.._|_u
<4
r
__oL
. T
(@]
: PO H_ﬂ__..nlﬂ Ho s
: L___._ o
S T2 HE
1° 70 adl “A ; :
oy = I o 7 w
5 o = o i
) Ko 1° : :
o_=._ : Jal ;
orl il :_ :
il 5 o S
ofr M = L_L__ ¢ 3
S +
ry Hlouol g :
.r 7 = T
.n..UrO _|w_ jod 1 H LIL -E |
Dlmuwm_ . - 3
: : 7 ~ < = i
oT o fr 4§ A
o ER S op 4 %
.._Auﬂmo_ez oo ) o |
| ._o_. ot lof
ar Mo o K i i w”_. _E
S J =< K =)= |
<K e, 3 ~ :
: u ol @ u,,,h
e 5% ©
) o i *
oro g ﬁ
3 ...__= : : M To7d
=) ufl jor OF 7 ¢ :
57 ol ujo ™ T % . :
My = 5 = : L
I K g ma mL
_.Ao Ol_ _IL ._O o ol —— =
G z0Hg |_ i |
0 K 0 30 H 1
Jn — Ljo o ; wﬂ. :
: ; ._Oﬂ _I Jal iu lb|_
KO Mo N s : m: :
or M Jn 20 4 ) _|u_
i[l ol o b aﬂ
: ol = :
o & o e : :
gl 1
: e
) O foF [ % - ;
) L_=._ |_ﬂ|_ h Mﬂ. ugo &3
= o 10 1 . :
ol nd : .U u.__u
2 H il ; %
.”__“_n.ﬂﬂ .-ﬁ—- |._ _: ._.n_T o ﬁ
__E T i = BT = = | "
Jn %.q.__ u__m._ ulo o = |k !
orl 22 M | < i | 3
(@] i :
: d |
KJ 1o : :
i jol = F
Lo a |







IN=0/N
(71ES =8 YuF-E=2)
- 4k HOIE 50.3% S|YsHs ES3Y 100%
E =2 08 11.5%
g N
e | |+ 031 71 * (241) =184 100%
| (&) waE 708% S= 34.5% (254) & 1~28H4 100%
___________ i (£2) YIS 66.1% =& 25.9% (269) =1~65t4 100%
og | 2% 1~5AMK| S 4y ® 0z,
o > Srixd = =D ALK
AlRZE _ ;
____________ *FEERS 400 M2t 2F AKX (] 23 8A])
D27 HIg o273 HIg F=
- HIg ShY-sEm Bt > | * O OHY 2ARI O B2
- LY H NASE S22 R A (244) =1 (264~) =1~2




XIZ7HX]

Iz 25 WS -=12)

st Q12| DAfslE
234 9=

o=

(532)

2718, 4= 719 S

ST3aX =
* Qol0| IR Ja Za=Zays

O odH=2 A,

‘s, 75 -29(255-)

AT S(YWS)

sty | ESuH(ES),

oL
st G X|o @RE7

sz, X9 =35718,
EME, S8712, st S)

A BHYR &

AR
sEst L A
* Stuof SEetm MYEEP
SEXYA, X2

* IS(KIP)EO| [SERIPWE] 75




2024

X

a1




k!

gl
=

rest Welfare Institute

o
orea Fo

3t

L2

o~

N O N

* FAQ

300

At

ol

- J|Et E



=2H-0l=
AE|-E M

20| -Bt3f

713 -2

[SEstn £1S T2 3]

= CHES L&

1 1. 94¥ OrEH 0|7 : 31t H4H

2 2. LIS B0 0jd OfAE - & O, X 5 Z0j

3 =MENA| 3. £ Ho|O= == : Mg mzjo|= g

4 4. HIHIHH| HO]AH R : HIHAZ|0f] [}E LIF SAY

5 5. 250f| : £07E t=7|

6 1. & Y ASE @ £0 2=

7 2. SHIEA AOO|E O{EHR : AHO[E MEf=0|

8 1 231 3. f0M EF= Zelds - TAHZALEY, se&EEE
9 4. Y £2 F= = O[07] - & ME{fA HOo|OE

10 5. £50f| : ZAZ0| TE7|

11 1. 22 L2040 : 2 MefA g

12 2. LiAto| &4 OR[E : & MEfH

13 | ®0] == o™ | 3. S0|7F & LR : 77| S84

14 4. LS o7 dEA @ LE|LE, HWLIE H| W

15 5. 230 : L}RRZH(3x3, 9%Z}) HE URT|

16 1. HA|IER]] 25 : S0 gt =722 2 Al

17 2. R 2i0|Z : =A== OfEA THEI?

18 LEEoF Q17 | 3. B4 Z|ZI0] #IH S| 22 @ EHAZ|Z S40A A
19 4. 22| & A T2HE : Eth 4 LR 45T 27|
20 5. Z50f : HELIR AHEHE UHE7|




6217%(2)

6_?é_| ol
5% () ~ 10E(E) 144

Ch

2024 =58 g FTUY

~Oo no
= *_._= ﬁ
ofl H 7
u JoI o
3 L
ofll =%
o =z K
~O &0
i
K d
2z
o <o
K oo
% mE S S
m BB 1 |
KO .__._.._.o 5
= & |l =%
: o [ “
P i
= g HooE T :
z e @@ =
- | = [ — “
= g © K0y
1 H.A « -
L=y o2 I
= i nh
el e T Y
e el
! oo . or “
m = 3
y 1 - N
_ & 1 Ko <
qu 3t 1 aw T
= I © L
) < 1 <
NS -]
ol

d) ~ 142(3)
FA

(=]
=
=

6% 10%(
I.

arm Of

M.__ < Jor

ofll S5
Jor XU

Jn

10

o S&2

xS

SR ZAL O

|

-
=

o

* hRRIYL 6



2024\ SEE 208 YA 27 Ohl

1,000 (011%)

=
o

DoERR

ol

U

.
.
0

Py Py
X T OH
= * "
T, 81 K
~ mOK mﬁ
on a1 H 2
=n w0
o of I
o MH X _
o o0 wd
.n_vl_ao__:_.
O_n _.__o
~
T
K
WU
ma.._Aux._
o Ko
fo K Al
M:lu_x
o
oF
. T .
n =
K o &
ol © <
i 1
||.A|m_UI_.._.__.__o
W = & o
< = 4
N0 10 & 2
H —IA
off o Em____ﬂ___
H T °
Wi
[ 10 xo ™
of 1] o o =
il
Jln o_nAoMom
o ~ =
< & 9=
= . S I
R g B
R of ®O
3 UWo Uwo %
m o oM
_-N\___

----------------------------------------
3
.

*
.
---------------------------------------

ol [ H11=

[y

HEH=XZO| B FOIEAI=AL B =027 3

3
=

10

Kio

11



2024\ SEE 208 YA 27 Ohl

I

FlIeH =0iik3= o), RHEAM|HAFA

HMI3Xt | 1A,

st
=

Jjo

oIl

2 SetH o2 nafsto] 7|3] Hof

J

X
o

|

th, 407 O[st S8XL

0

Kk

il
<4

Of| A X[

©® £ 2| K| (A3t (23]) w8 X0, 20KA|



7|} QhLljAre

b Q0] et x|

2ge]

A S(oH,

M =2

WEHEIHLOIEX|EAL, 23147}
(e]|
AA

b
o

Ol A
o
2 %89

ol
-

ml
) 2I'5 1008 LH2l(

%0 o7

=_= =

O Of

C
o]

oK
Qa1
= of
ofr ©

=

20X | mE T2 3 0|2 NS
20XIA| I T2 03 Al

off of
ERNE
H <
ERNE
ol 1o
IO IO
[ [|f

|.

F
—

(1%h)
(2%}) =



a3
2024 S281T 205 2Pt "

7|E} QHLyjALE

WA USEE JAR B 92 24 1301912

x| KHA|Y ZHALR x| AAIS ZHALR
M&E 40,000 ZH 40,000

S M 40,000~ == 35,000~40,000
o+ 35,000~ =t 40,000
o1& 40,000~ ME 35,000~
g 40,000 Mt 4~50,000

CH & 40,000 HE 50,000

= A 40,000 Ay 45,000
M= 40,000 H 43,000




7|} QhLljAre

NI

I.

~0
Khu
Of

Ljo

oK

ol

Jor

Jor

ol

oK

r

B
zl
ol
r

ljo

"

oll
Eo
joill

15



7|} QhLljAre

i, XS BEX}

& X = Al

(<13
ol

x| 2480| HAALQLL

)

QX| &gt

2
=

Jhs 2Ex|Q

16



7|} QhLljAre

» ZAH| XZEE: tuoflM ZAtofA| X

17



24

Welfare Institute

%13l

[=]
t

res

gl
=

bt
a Fo

334

Kore

o~

o| ofsH

[=1,
=l

m_._ﬂg w|r
ERE
ol Jor
O TO
|\ J|n

N O N

+ FAQ

.H_mm
=<
ol
!
Ll
~n

18



-

2024 &0 wils 2OS

FAQ

Ltz = UALIR?

AT, OIEX|H2 2413 2

J|RH 20| IS —LIL.

I.

—_
(@)
=

=)

—
o
=

1= = H 2,000

X
L

LIEF. (

OfL|H, ZAt &2

— (®)
:j)d:

SE2| g4 R0 et 2IXH0[ FOHE|

CILIR?

A LY

of

O] DL ELICY.

A3. X|



-

2024 &0 wils 2OS

FAQ

A X=ELta?

o
o

of
A4, ZAH|E I=2HOM XZEH, AlEws

L
| -

Q4. ZAH]|

LT,

SEE Lol

bote?

|_-I-
S

i Xtz 572k 7t

-
o)

20
= T

= =22t

P

)
l
{1
53
10
%0
o~ o
ol A~ o
1
o KI AT
- O o2
w9 <k
RO £
m|_.u_o__:
Wl -5 O
r K
ofl ™
rI — Kk
H 0 =
= IF wo
(BN K
Kk OF o
— M
H:Io_.
o:n”_ﬁ
I-IH —
1 | <Ay
o ur
° ol 3
N =0
—_ NV
7x==|_.__._l
ﬂ_ﬂm
Ho o 3
KD o o0
H m Bl
< 3 &
ﬂom./__.A
e)
%A



2 A1} Q0= S

24 g
oBHEI0I

D D O

ot

)

H= A

@
<O

21



|8t0] Z=A|7| HERLICE.

22






